



























## Trail Costs

ITEM	DESCRIPTION	QUANTITY	UNIT	RATE	AMOUNT
1.	Excavate F.B.C to mineral base, width 1.2m.	230	m	3.50	805.00
2.	On F.B.C construct formation 0.9m wide with as-raised mineral based material to a depth of no less than 150mm compacted.	230	m	5.00	1150.00
3*.	Construct trail 0.75m wide on FBC using 75mm Type 1, compact to refusal.	190	m	5.00	950.00
4*.	Construct rock features on trail formation as per specification in 8. page 12 & 14.	40	m	50.00	2000.00
4.	Re-instate trail margins.	230	m	1.50	345.00
* 25 tons Type 1 TOTAL THIS SECTION * 30 tons rock					5250.00 £22.82/m





































